
 

 

 

 

 

 

 

 

 

 

 

У6464е<ые оD74=874тоDы, уG4Eт=8к8 8 7оEт8 6ыEт46к8 RosUpack, 

пD86етEт6уN 64E =4 E4<о< <4EHт45=о< <еDопD8Oт88 6 8=дуEтD88 уп4ко6к8! 

 

Се7од=O 6OEт46к4 RosUpack – =4EтоOIее Eо5Oт8е =е толPко 

длO пDо876од8теле9 уп4ко6к8, =о 8 длO <=о78E DоEE89Eк8E 8 74Dу5е6=OE 
пDо<OHле==8ко6 8 пDедпD8=8<4теле9. �деEP Eко=Fе=тD8Dо64=O 6Eе доEт86е=8O, 
=о6HеEт64 8 8==о64F8о==Oе D47D45отк8 DоEE89Eко7о 8 <8Dо6о7о DO=к4 уп4ко6к8. 
�олее то7о, 6OEт46к4 д4ет 6Eе< уG4Eт=8к4<  у=8к4лP=уN 6о7<о6=оEтP у68детP 
746тD4H=89 де=P отD4Eл8: то, Gто Eе7од=O пDедEт46ле=о =4 RosUpack 6 68де пDоекто6, 
746тD4 5удет =4 уп4ко6оG=OE л8=8OE кDуп=е9H8E пDо876од8теле9.  

ПD8 Qто< RosUpack – Qто =е толPко 6OEт46к4 доEт86е=89, =о 8 отл8G=4O 
плоI4дк4 длO о5Iе=8O, 7де откDOтO 6о7<о6=оEт8 длO 6EтDеG, о5Eу6де=8O пDо5ле< 

8 о5<е=4 опOто<. �деEP, к4к =87де, <O <о6е< поGу6Eт6о64тP 4т<оEDеDу Eо78д4=8O, 

6 котоDо9 д8749=еDO, ко=EтDуктоDO 8 дDу78е EпеF84л8EтO уп4ко6оG=о9 8=дуEтD88 

Eо7д4Nт луGH8е о5D47FO уп4ко6оG=OE DеHе=89. 

'G4Eт=8к8 уп4ко6оG=о7о DO=к4 6EтDеG4NтEO =4 RosUpack у6е д64дF4тP 6оEе<P 
лет. �4H4 отD4EлP DоEл4 6<еEте E 6OEт46ко9, котоD4O 7од 74 7одо< от<еG4л4 =4H8 
по5едO 8 уEпеE8, пDо5ле<O 8 тDуд=оEт8, откDO64л4 E6о8 д6еD8 длO =о6OE 
пDо876од8теле9 уп4ко6к8 8 д464л4 8< оD8е=т8DO длO D4768т8O.  

RosUpack длO <=о78E уG4Eт=8ко6 DO=к4 Eт4л луGH8< 8EтоG=8ко< 8=DоD<4F88 
о5о 6EеE 4Eпект4E D4768т8O уп4ко6оG=о9 8=дуEтD88. � длO <е=O 646=о, Gто 
�4F8о=4лP=4O ко=DедеD4F8O уп4ко6I8ко6 EопD8G4Eт=4 к Qто9 пDоE6ет8телPEко9 
D45оте. &D4д8F8о==о <O пD8=8<4е< 4кт86=ое уG4Eт8е 6 дело6о9 пDо7D4<<е 
6OEт46к8, пDо6од8< E6о8 EеEE88, пD87л4H4е< 6 к4GеEт6е Eп8кеDо6 6едуI8E QкEпеDто6 
6 о5л4Eт8 D47D45отк8 8 пDо876одEт64 уп4ко6к8, д4е< 6о7<о6=оEтP к46до<у =49т8 
от6етO =4 6ол=уNI8е 6опDоEO. �O откDOтO длO о5Iе=8O, 7ото6O дел8тPEO опOто< 8 
7=4=8O<8, т4к к4к по=8<4е<, Gто D4768т8е =8Hе9 отD4Eл8 6 Fело< 7468E8т от к46до7о 
87 =4E.  

ПD87л4H4N 6EеE к уG4Eт8N 6 6OEт46ке 8 6 дело6о9 пDо7D4<<е. '6еDе=, Gто 
7деEP 6O о5O74телP=о =49дете длO Eе5O Gто-то 8=теDеE=ое 8 пD8о5Dетете =о6Oе 
7=4=8O 8 опOт.  

 

 

�. �. Чу9ко6, пDе78де=т �4F8о=4лP=о9 ко=DедеD4F88 уп4ко6I8ко6,       
пDедEед4телP Eо6ет4 д8DектоDо6 �П «�О&ЭК» 

 

 


